©) In the opposite figure, if the angle of —

* incidence becomes 45°, which of Medium y o,
the following figures represents
the correct path of the ray?
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@ The Iarg:st angle of rel'r:u:lmn for a light beam passing from water of refractive
index 2 3o airis ...oceee. '

a 4182° (b 48.59° (c)90° d 180°

@ The critical angle between two media depends on .
a ' the absolute refractive index of the optically dcn:r.cr mﬁlmm only
b’ the absolute refractive index of the optically rarer medium only
¢’ the absolute refractive indices of the two media
d the angle of incidence of the light ray on the boundary surface between the two media

9 Which of the following figures represents the graph of sine of the critical angle (sin ¢ ) for
multiple transparent materials surrounded by air versus the absolute refractive index (n) for
each of the matenials?
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€ # A light ray falls from air on a liquid surface. If the angle of incidence is 30° and the
“ angle of refraction is 22°, then the critical angle for the ray when it passes from the liquid
(V11 - .
a 22° b 30° (c)41.4° (d 485°

147

CamScanner


https://v3.camscanner.com/user/download

